Algebra 2 Worksheet Name: _. Yo

Hodge-Podge Sections 2.3-2.5 0 Period:
1. Determine whefhe.r' or not each data set could represent a linear function. EXPLAIN your answer.
1, ¢ 2. ISV w3 Y %
x 3 Y27 a7t o x [ 1007 | 1507 ] 200 ] 2507 300
7 9 7 10 15 31
f(x) 5\ ¥ L . i f(x) o O A N ;22\ .
— e — = — — —
Bk 2 2 Ty +5 3} +q
2 _3-_. ._2-_. . _5._ = _t,
) ) Sv So
Dnesan e WA%«KQ}AW% NOTMM e x/kaiﬁ,ﬂ'&

Ulmm% v NOT Cmotenct
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5. Find the x and y intercepts of the line 6. Write the line 3x -2y =4 in slope-intercept
4x—3y=12. Then graph the line. form. Then graph the line.
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Write the equation of each line described in the
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form requested. *
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V. Graph each inequality.
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VI. Find the x and y intercepts and then graph.
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